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Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I

Time : 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-A
1. Answerany five sub-questions. Each sub-question carries two marks. (5%x2=10)
CIRYTOTTR T LUBBINOT CUZOR. B SOTBITT 2 oBned.
a) What do you mean by correlation ?
ABIOOG OB ?
b) If bxy =—-0.36, byx = —1.38, obtain ‘r’.
bxy = —0.36, byx = —1.38, &35 ‘I’ 30R&R00.

c) Write the meaning of irregular variations.
320308008 WTEIDTEFHO3D wcﬁrddg{ PR,

d) Expand (y - 1)6 = 0.
(y-=1)9%=0 VTR, RO

e) What is meant by multi-stage sampling ?
WRIBOBE RBNEO 0T3P

f) Mention methods of sampling.
DRTOCH &)qﬁﬁe;aigt SR,

g) What is probability ?
ROIRICODB 03T 2

P.T.O.
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: SECTION-B
Answerany three questions from the following. Each question carriessixmarks. (3x6=18)
OSRR)TTITITL TDORTO @%ﬁ@ﬁ SUB0R. B3 gﬁqﬁ €285 903N

2. Ranks given in a music contest aésigned by two judges are given below :
JudgeA: 4 5 8 6 73 3 1 2
JudgeB: 7 5 4 1 3 2 6 8
Calculate rank correlation.

Rone3 A 0308 5eIDd SeRPFINPCC) B BFFOB Feednv) QeRTI=T.
Senrsnos A 4 5 8 6 7 3 1 2
seSnFSmS B: 7 Tigetac bt Sl - e s ol
308 RRRoL0FRY FoRABOD.

3. Calculate the two regression equations from the following data :
X =20, Y =12, 6x=5, 6, =25,r=0.8.
B3NS DRTRLOT DR 0L3OBOZ BB, FOBIROD.
X =20, Y =12, 6x=5, 6, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 8 100 111

(in crores) ; _
20213 ¢33 wSx0s3 01R) 83 B9 wespd pesleven e ARATMERAVEV SN D AL RO
€I0TIOBR.

SR 1961 1971 1981 1991 2001 2011

wRKosd : 439 548 684 8 100 111

(Bnesnvd)
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5. Aman wants to check the inventory records against the physical inventories by

a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find

the sample size, if the confidence level | Is 90% (Value of confidence co-efficient
90% = 1.64). -

ROBONG tde3 B0 B 88 BOBNY I3 wbe@cx:b T QOEBES SoT3e @éé =0T

eIRRS +5, mras eégda 39.4 &2y 502365:’0&3 90%, 533 mcs’ao:o tﬁ&@dwa‘%
ﬁoz:baoam (a%ow%o:‘o testablant.d 90% =1 64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.
PNolec®) #mé@ed @7 53 DRI, NOMGcﬁ:@m BOTD SBOND.
a) 0 BAND 2u0Te ﬁo&:’goﬁz@{ Beedmon
b) Sz BR° :30335 5 Enedamon.

SECTION-C

Answerany three questions from the following. Each question carriesfourteen marks.

(3x14=42)
R mride Baeth Farert eugos B TF14 oty

7. Compute Pearson’s correlation co-efficient for the following data and also calculate
the probable error.

Supply : 30 29 29 25 24 o4 o4 PRSiER 18
(quintals)

Price®) : 11 12 183 14 15 16 18 ¢ 18 2

59T Satipos Kok o000 28 eieioter aatiorAgd megsoton AmRonoE) Sy
=8 e ForEecd sqsommom

Rowoewd: 30 29 29 25 4 24 242 18
(3ptoee)

VSR : 11 122713 = g5 5 g g 18 20
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8.

10.

11

Calculate trend values by the method of least-squares from the data given below :

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales : 76 80 - 130 144> - 138: . 120 174 . 190
(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.
a‘@iﬁﬁs‘ DIV 2,000 BT TGO BR0QD TN TeasoTBosdd) E5 0 WS
no

84 5% 20178 5000 FHOIT) BOBEBOND.
®™RE ;2009 2010 2011 2012 2013 2014 2015 2016
TR 76 80 130 144 138 120 174 190
(3. OERYQ)

The heights (in inches) of a group of fathers and sons are given below :
Height of fathers:71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the lines'of regression and estimate the height of son when the height of
father is 69 inches.

I Boeds0= Bowd R0 mgﬁs NFODOTI 30O deaﬁﬁ#zﬁi FOBOBROWD. BoT3C T
69 902370 BTN WM N ) DOT LTI

Bordod 2T 71 68 66 67 70-71° 70 713 72 6565
&%@fs‘ag‘d: 69 64 65 63 65 62 65 64 66 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than X 75 per day by
applying Newton’s method.

Daily wages R)upto: 50 60 70 80 90 100
Numberofworkers : 50 150 300 500 700 800

52300 S5 TSNS TR0 BT NVAT B8, WOLIOPRTI TEEITI) T DBURNG. Og,
an. 75%03 ﬁzd% am@ NYRIT TIFTO ﬁo&%odadg{ BOTOBROWD. BRLD® a@a“dag
E:BR’QSO&D?Q&

B3 AN 32 (X) 3 ¢ 50 60 70 80 90 100

T 8T Ko : 50 =150 3007504500 S5700 525800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year : 2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 7?7 350 ? 430
3SR QR 208¢303nP RTDE30E 2013 333 2015 SR B SISO 20RO FRE.
SR : 2010 2011 2012 2013 2014 2015 2016
evzRER ('000 L' ndY) 200 220 260 7 - 350 ? 430




